



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## BS (Software Engineering) 4th Semester Section-B Morning Session: Autumn 2025

Registration #	Name	EW244					GE163					GE167					GE265					MT143					MT242					
		Technical & Business Writing					Expository Writing					Ideology & Constitution of Pakistan					Calculus and Analytic Geometry					Probability & Statistics					Linear Algebra					
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	
B.S SE Aut-2023-M-B-0063	Abdullah Ehtisham	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5
B.S SE Aut-2023-M-B-0071	Ehtisham Ahmed (Withheld due to	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S SE Aut-2023-M-B-0095	Muhammad Ubaid Ullah	-	-	-	-	-	-	-	-	-	-	60	C	2.0	2	4.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S SE Aut-2023-M-B-0100	Raja Sufyan Asif (Withheld due to	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S SE Aut-2023-M-B-0110	Usama Mazhar (Withheld due to Fe	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S SE SP-2024-M-A-0059	Usama	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S SE SP-2024-M-B-0072	Aiza Rafaqat	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	45	F	-	3	-	
B.S SE SP-2024-M-B-0074	Alishba Altaf	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	
B.S SE SP-2024-M-B-0075	Ambreen Javed	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	
B.S SE SP-2024-M-B-0076	Ammad Zaib	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	64	C	2.0	3	6.0	
B.S SE SP-2024-M-B-0077	Anas	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	44	F	-	3	-	
B.S SE SP-2024-M-B-0078	Arooj Kanwal	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	38	F	-	3	-	
B.S SE SP-2024-M-B-0078	Arooj Kanwal	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	56	C	2.0	3	6.0	
B.S SE SP-2024-M-B-0080	Basit Ali Chughtai	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	66	C+	2.5	3	7.5	
B.S SE SP-2024-M-B-0082	Ebad Ur Rehman	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	39	F	-	3	-	
B.S SE SP-2024-M-B-0084	Haider Pasha	33	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	25	F	-	3	-	
B.S SE SP-2024-M-B-0086	Husnain Khan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	36	F	-	3	-	
B.S SE SP-2024-M-B-0087	Imam Muhammad Abul Aala Yousa	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	72	B	3.0	3	9.0	
B.S SE SP-2024-M-B-0088	Khuram Saeed	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	
B.S SE SP-2024-M-B-0090	Laiba Waheed	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	51	D	1.5	3	4.5	
B.S SE SP-2024-M-B-0091	Maimoona Ijaz	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	
B.S SE SP-2024-M-B-0094	Muhammad Alamgir Khan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	41	F	-	3	-	
B.S SE SP-2024-M-B-0096	Muhammad Atif Asif	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	
B.S SE SP-2024-M-B-0098	Muhammad Haris Siddique (Withhe	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S SE SP-2024-M-B-0102	Muhammad Mobeen	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	71	B	3.0	3	9.0	
B.S SE SP-2024-M-B-0104	Muhammad Sami	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	
B.S SE SP-2024-M-B-0105	Muhammad Saqib	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	49	F	-	3	-	
B.S SE SP-2024-M-B-0107	Muhammad Sufyan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	22	F	-	3	-	
B.S SE SP-2024-M-B-0112	Sabahat Asif Raja	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	
B.S SE SP-2024-M-B-0115	Sheeraz Ahmed Mahar (Rs.5000 Fi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## BS (Software Engineering) 4th Semester Section-B Morning Session: Autumn 2025

		SE114					SE2110					SE2111					SE213					SE218					SE219				
		Digital Logic Design					Computer Organization & Assembly Language					Operating Systems					Database Systems					Computer Networks					Software Engineering				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S SE Aut-2023-M-B-0063	Abdullah Ehtisham	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	
B.S SE Aut-2023-M-B-0071	Ehtisham Ahmed (Withheld due to	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S SE Aut-2023-M-B-0095	Muhammad Ubaid Ullah	-	-	-	-	-	-	-	-	-	-	-	-	-	-	61	C	2.0	4	8.0	-	-	-	-	-	-	-	-	-	-	
B.S SE Aut-2023-M-B-0100	Raja Sufyan Asif (Withheld due to	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S SE Aut-2023-M-B-0110	Usama Mazhar (Withheld due to Fe	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S SE SP-2024-M-A-0059	Usama	-	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0	-	-	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	-
B.S SE SP-2024-M-B-0072	Aiza Rafaqat	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-
B.S SE SP-2024-M-B-0074	Alishba Altaf	-	-	-	-	-	-	-	-	-	66	C+	2.5	3	7.5	-	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-
B.S SE SP-2024-M-B-0075	Ambreen Javed	-	-	-	-	-	-	-	-	-	51	D	1.5	3	4.5	-	-	-	-	-	-	66	C+	2.5	3	7.5	-	-	-	-	-
B.S SE SP-2024-M-B-0076	Ammad Zaib	-	-	-	-	-	-	-	-	-	67	C+	2.5	3	7.5	-	-	-	-	-	-	56	C	2.0	3	6.0	-	-	-	-	-
B.S SE SP-2024-M-B-0077	Anas	-	-	-	-	-	53	D	1.5	3	4.5	57	C	2.0	3	6.0	-	-	-	-	-	51	D	1.5	3	4.5	-	-	-	-	-
B.S SE SP-2024-M-B-0078	Arooj Kanwal	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	58	C	2.0	3	6.0	-	-	-	-	-
B.S SE SP-2024-M-B-0080	Basit Ali Chughtai	-	-	-	-	-	-	-	-	-	58	C	2.0	3	6.0	-	-	-	-	-	-	82	A	4.0	3	12.0	-	-	-	-	-
B.S SE SP-2024-M-B-0082	Ebad Ur Rehman	-	-	-	-	-	-	-	-	-	72	B	3.0	3	9.0	-	-	-	-	-	-	52	D	1.5	3	4.5	-	-	-	-	-
B.S SE SP-2024-M-B-0084	Haider Pasha	65	C+	2.5	3	7.5	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-
B.S SE SP-2024-M-B-0086	Husnain Khan	-	-	-	-	-	-	-	-	-	27	F	-	3	-	-	-	-	-	-	-	35	F	-	3	-	-	-	-	-	-
B.S SE SP-2024-M-B-0087	Imam Muhammad Abul Aala Yousa	-	-	-	-	-	-	-	-	-	95	A	4.0	3	12.0	-	-	-	-	-	-	83	A	4.0	3	12.0	-	-	-	-	-
B.S SE SP-2024-M-B-0088	Khuram Saeed	-	-	-	-	-	-	-	-	-	93	A	4.0	3	12.0	-	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-
B.S SE SP-2024-M-B-0090	Laiba Waheed	-	-	-	-	-	60	C	2.0	3	6.0	75	B+	3.5	3	10.5	-	-	-	-	-	66	C+	2.5	3	7.5	-	-	-	-	-
B.S SE SP-2024-M-B-0091	Maimoona Ijaz	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	60	C	2.0	3	6.0	-	-	-	-	-
B.S SE SP-2024-M-B-0094	Muhammad Alamgir Khan	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	51	D	1.5	3	4.5	-	-	-	-	-
B.S SE SP-2024-M-B-0096	Muhammad Atif Asif	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	51	D	1.5	3	4.5	-	-	-	-	-
B.S SE SP-2024-M-B-0098	Muhammad Haris Siddique (Withhe	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S SE SP-2024-M-B-0102	Muhammad Mobeen	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	-	-	51	D	1.5	3	4.5	-	-	-	-	-
B.S SE SP-2024-M-B-0104	Muhammad Sami	-	-	-	-	-	-	-	-	-	51	C	2.0	3	6.0	-	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-
B.S SE SP-2024-M-B-0105	Muhammad Saqib	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	-	57	C	2.0	3	6.0	-	-	-	-	-
B.S SE SP-2024-M-B-0107	Muhammad Sufyan	-	-	-	-	-	-	-	-	-	40	F	-	3	-	54	D	1.5	4	6.0	31	F	-	3	-	-	-	-	-	-	
B.S SE SP-2024-M-B-0112	Sabahat Asif Raja	-	-	-	-	-	-	-	-	-	66	C+	2.5	3	7.5	-	-	-	-	-	-	72	B	3.0	3	9.0	-	-	-	-	-
B.S SE SP-2024-M-B-0115	Sheeraz Ahmed Mahar (Rs.5000 Fi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



# FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

## BS (Software Engineering) 4th Semester Section-B Morning Session: Autumn 2025

		SE221					SE225					SE231					
		Software Design & Architecture					Software Requirement Engineering					Advanced Python Programming					
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	
B.S SE Aut-2023-M-B-0063	Abdullah Ehtisham	53	D	1.5	3	4.5	-	-	-	-	-	35	F	-	3	-	
B.S SE Aut-2023-M-B-0071	Ehtisham Ahmed (Withheld due to																
B.S SE Aut-2023-M-B-0095	Muhammad Ubaid Ullah	57	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	
B.S SE Aut-2023-M-B-0100	Raja Sufyan Asif (Withheld due to																
B.S SE Aut-2023-M-B-0110	Usama Mazhar (Withheld due to Fe																
B.S SE SP-2024-M-A-0059	Usama	77	B+	3.5	3	10.5	57	C	2.0	3	6.0	55	C	2.0	3	6.0	
B.S SE SP-2024-M-B-0072	Aiza Rafaqat	71	B	3.0	3	9.0	59	C	2.0	3	6.0	63	C	2.0	3	6.0	
B.S SE SP-2024-M-B-0074	Alishba Altaf	71	B	3.0	3	9.0	55	C	2.0	3	6.0	51	D	1.5	3	4.5	
B.S SE SP-2024-M-B-0075	Ambreen Javed	72	B	3.0	3	9.0	62	C	2.0	3	6.0	50	D	1.5	3	4.5	
B.S SE SP-2024-M-B-0076	Ammad Zaib	59	C	2.0	3	6.0	50	D	1.5	3	4.5	39	F	-	3	-	
B.S SE SP-2024-M-B-0077	Anas	42	F	-	3	-	61	C	2.0	3	6.0	24	F	-	3	-	
B.S SE SP-2024-M-B-0078	Arooj Kanwal	72	B	3.0	3	9.0	58	C	2.0	3	6.0	60	C	2.0	3	6.0	
B.S SE SP-2024-M-B-0080	Basit Ali Chughtai	62	C	2.0	3	6.0	77	B+	3.5	3	10.5	57	C	2.0	3	6.0	
B.S SE SP-2024-M-B-0082	Ebad Ur Rehman	57	C	2.0	3	6.0	56	C	2.0	3	6.0	53	D	1.5	3	4.5	
B.S SE SP-2024-M-B-0084	Haider Pasha	53	D	1.5	3	4.5	72	B	3.0	3	9.0	51	D	1.5	3	4.5	
B.S SE SP-2024-M-B-0086	Husnain Khan	62	C	2.0	3	6.0	50	D	1.5	3	4.5	28	F	-	3	-	
B.S SE SP-2024-M-B-0087	Imam Muhammad Abul Aala Yousa	75	B+	3.5	3	10.5	72	B	3.0	3	9.0	80	A	4.0	3	12.0	
B.S SE SP-2024-M-B-0088	Khuram Saeed	76	B+	3.5	3	10.5	89	A	4.0	3	12.0	75	B+	3.5	3	10.5	
B.S SE SP-2024-M-B-0090	Laiba Waheed	71	B	3.0	3	9.0	80	A	4.0	3	12.0	50	D	1.5	3	4.5	
B.S SE SP-2024-M-B-0091	Maimoona Ijaz	75	B+	3.5	3	10.5	65	C+	2.5	3	7.5	53	D	1.5	3	4.5	
B.S SE SP-2024-M-B-0094	Muhammad Alamgir Khan	63	C	2.0	3	6.0	65	C+	2.5	3	7.5	34	F	-	3	-	
B.S SE SP-2024-M-B-0096	Muhammad Atif Asif	51	D	1.5	3	4.5	66	C+	2.5	3	7.5	40	F	-	3	-	
B.S SE SP-2024-M-B-0098	Muhammad Haris Siddique (Withhe																
B.S SE SP-2024-M-B-0102	Muhammad Mobeen	54	D	1.5	3	4.5	70	B	3.0	3	9.0	50	D	1.5	3	4.5	
B.S SE SP-2024-M-B-0104	Muhammad Sami	41	F	-	3	-	50	D	1.5	3	4.5	28	F	-	3	-	
B.S SE SP-2024-M-B-0105	Muhammad Saqib	37	F	-	3	-	55	C	2.0	3	6.0	34	F	-	3	-	
B.S SE SP-2024-M-B-0107	Muhammad Sufyan	51	D	1.5	3	4.5	51	D	1.5	3	4.5	15	F	-	3	-	
B.S SE SP-2024-M-B-0112	Sabahat Asif Raja	72	B	3.0	3	9.0	60	C	2.0	3	6.0	51	D	1.5	3	4.5	
B.S SE SP-2024-M-B-0115	Sheeraz Ahmed Mahar (Rs.5000 Fi																

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



**FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD**  
**BS (Software Engineering) 4th Semester Section-B Morning Session: Autumn 2025**

Registration #	Name	EW244					GE163					GE167					GE265					MT143					MT242				
		Technical & Business Writing					Expository Writing					Ideology & Constitution of Pakistan					Calculus and Analytic Geometry					Probability & Statistics					Linear Algebra				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S SE SP-2024-M-B-0116	Soma Sehrosh	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	40	F	-	3	-		
B.S SE SP-2024-M-B-0119	Tanzeela	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	42	F	-	3	-		
B.S SE SP-2024-M-B-0122	Wajahat Ahmad	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	38	F	-	3	-		
B.S SE SP-2024-M-B-0123	Waleed Abbasi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	37	F	-	3	-		
B.S SE SP-2024-M-B-0124	Zeeshan Ali	-	-	-	-	-	-	-	-	-	-	-	-	-	18	F	-	3	-	-	-	-	-	-	50	D	1.5	3	4.5		
B.S SE SP-2024-M-B-0125	Zohaib Ahmed	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0		

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



**FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD**  
**BS (Software Engineering) 4th Semester Section-B Morning Session: Autumn 2025**

		SE114					SE2110					SE2111					SE213					SE218					SE219				
		Digital Logic Design					Computer Organization & Assembly Language					Operating Systems					Database Systems					Computer Networks					Software Engineering				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S SE SP-2024-M-B-0116	Soma Sehrosh	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	
B.S SE SP-2024-M-B-0119	Tanzeela	-	-	-	-	-	-	-	-	-	59	C	2.0	3	6.0	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	
B.S SE SP-2024-M-B-0122	Wajahat Ahmad	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	
B.S SE SP-2024-M-B-0123	Waleed Abbasi	-	-	-	-	-	-	-	-	-	61	C	2.0	3	6.0	-	-	-	-	-	51	D	1.5	3	4.5	-	-	-	-	-	
B.S SE SP-2024-M-B-0124	Zeeshan Ali	65	C+	2.5	3	7.5	-	-	-	-	86	A	4.0	3	12.0	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	
B.S SE SP-2024-M-B-0125	Zohaib Ahmed	-	-	-	-	-	-	-	-	-	72	B	3.0	3	9.0	-	-	-	-	-	51	D	1.5	3	4.5	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



**FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD**  
**BS (Software Engineering) 4th Semester Section-B Morning Session: Autumn 2025**

		SE221					SE225					SE231					
		Software Design & Architecture					Software Requirement Engineering					Advanced Python Programming					
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	
B.S SE SP-2024-M-B-0116	Soma Sehrosh	72	B	3.0	3	9.0	65	C+	2.5	3	7.5	50	D	1.5	3	4.5	
B.S SE SP-2024-M-B-0119	Tanzeela	72	B	3.0	3	9.0	52	D	1.5	3	4.5	51	D	1.5	3	4.5	
B.S SE SP-2024-M-B-0122	Wajahat Ahmad	65	C+	2.5	3	7.5	65	C+	2.5	3	7.5	56	C	2.0	3	6.0	
B.S SE SP-2024-M-B-0123	Waleed Abbasi	56	C	2.0	3	6.0	50	D	1.5	3	4.5	25	F	-	3	-	
B.S SE SP-2024-M-B-0124	Zeeshan Ali	72	B	3.0	3	9.0	77	B+	3.5	3	10.5	42	F	-	3	-	
B.S SE SP-2024-M-B-0125	Zohaib Ahmed	56	C	2.0	3	6.0	80	A	4.0	3	12.0	43	F	-	3	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: \_\_\_\_\_

Checked By: \_\_\_\_\_

Rechecked By: \_\_\_\_\_

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026